
1/4" LEVELING PL

BOLT DIA + 1/2" NON-
SHRINK GROUT

NUT AND WASHER
TACK WELDED AT

BASE

2
1
" 
@
 1
 1
/2
"Ø
 B
O
L
T
S

9
" 
E
M
B
E
D
 T
Y
P

(4) 2 5/16"DIA 
HOLES, TYP.

BASE PLATE TYPE "B-1"

(4) 1 5/16"DIA 
HOLES, TYP.

5

D

COL

COL

BASE PLATE TYPE "B-2"

(4) 1 5/16"DIA 
HOLES, TYP.

COL

COL

BASE PLATE TYPE "B-3"

BOLT - SEE BASE 
PL TYPE

2
1
" 
@
 1
 1
/2
"Ø
 B
O
L
T
S

9
" 
E
M
B
E
D
 T
Y
P

SLAB

GRADE BEAM

AT EXTERIOR GRADE BEAM

1' - 0"

6"

3
"

3
"

6
"

3" 4 1/4" 3" 1 3/4"

(4) 1 5/16"DIA 
HOLES, TYP.

F

2

BASE PLATE TYPE "B-3A"

3
"

4
 1
/4
"

3
"

1
 3
/4
"

1
' -
 0
"

1' - 0"

1 3/4" 3" 4 1/4" 3"

(4) 1 5/16"DIA 
HOLES, TYP.

D

9

BASE PLATE TYPE "B-3B"

2
 5
/8
"
4
 1
/2
"

3
"

1
 3
/4
"

3"3"

6
"

3
"

3
"

1 3/4"
3" 4 1/4"

2 5/8"

1
 3
/4
"

3
"

4
 1
/4
"

3
"

98.00°

(4) 1 5/16"DIA 
HOLES, TYP.

A

11

BASE PLATE TYPE "B-3C"

3" 3"

1 3/4" 3" 4 1/4" 3 3/4"

1
 3
/4
"

3
"

4
 1
/2
"

5
 1
/2
"

82
.0
0°

1
"

2
"

3
"

6
"

3
"

3
"

1' - 6"

1 3/4" 3" 4 1/4" 4 1/4" 3" 1 3/4"

(4) 1 5/16"DIA 
HOLES, TYP.

2

C.5

BASE PLATE TYPE "B-2A"

6
"

1
 1
/2
"

3
"

1
 1
/2
"

1' - 6"

1 3/4" 3" 4 1/4" 4 1/4" 3" 1 3/4"

1 1/2"

3"

1 1/2"

BRACE PL

BRACE PL

B-2A:

ANCHOR BOLT: 3/4"Ø

PL THICKNESS: 2 1/4"

PLATE WASHERS: 1/4" x 2"
w/13/16"Ø HOLES CENTERED

B-2:

ANCHOR BOLT: 3/4"Ø

PL THICKNESS: 1 1/2"

PLATE WASHERS: 1/4" x 2"
w/13/16"Ø HOLES CENTERED

B-3:

ANCHOR BOLT: 3/4"Ø

PL THICKNESS: 1 1/2"

PLATE WASHERS: 1/4" x 2"
w/13/16"Ø HOLES CENTERED

B-3A:

ANCHOR BOLT: 3/4"Ø

PL THICKNESS: 1 1/2"

PLATE WASHERS: 1/4" x 2"
w/13/16"Ø HOLES CENTERED

B-3B:

ANCHOR BOLT: 3/4"Ø

PL THICKNESS: 1 1/2"

PLATE WASHERS: 1/4" x 2"
w/13/16"Ø HOLES CENTERED

B-3C:

ANCHOR BOLT: 3/4"Ø

PL THICKNESS: 1 1/2"

PLATE WASHERS: 1/4" x 2"
w/13/16"Ø HOLES CENTERED

TOP OF PILE CAP/
TOP OF GRADE BEAM

TOP OF PIER
OR WALL STEM

3" 6" 6" 3"

3
"

6
"

6
"

3
"

1' - 6"

1
' -
 6
"

B-1:

ANCHOR BOLT: 1 1/2"Ø

PL THICKNESS: 2"

PLATE WASHERS: 5/8" x 3 1/2"
w/1 9/16"Ø HOLES CENTERED

(4) 2 5/16"DIA 
HOLES, TYP.

BASE PLATE TYPE "B-1A"

COL

COL

2" 5 1/2" 5 1/2" 2"

2
"

5
 1
/2
"

5
 1
/2
"

2
"

1' - 3"

1
' -
 3
"

B-1:

ANCHOR BOLT: 1 1/2"Ø

PL THICKNESS: 2"

PLATE WASHERS: 5/8" x 3 1/2"
w/1 9/16"Ø HOLES CENTERED

BASE
0"

1
' -
 0
"

7
"

7
"

10 3/4"

1"

6"

1
"

1
"

1/2"

1/2"

8" CONCRETE SLAB 
SEE PLAN

VAPOR BARRIER

ROUGHEN SURFACE
4" RIGID INSUL.

#4@16"O.C. - HORIZ

#5 OR #4 @ 36"O.C. 
TYPICAL. MATCH SLAB 
REINFORCEMENT FOR 

APPLICABLE SLAB 
REINFORCEMENT 

DIRECTION

#4 @ 12"O.C. - VERT w/
HOOKED END INTO GB

9" CONCRETE SLAB 
SEE PLAN (RECESSED 1"
AT FLOOR FINISH)

1' - 0"

CONT. #4 IN NOSING
w/#4 BENT BARS @ 

12"O.C.

GRADE BEAM -
SEE A1/SB500

BASE
0"

6.9

1
' -
 2
"

8" CONCRETE SLAB 
SEE PLAN

CFM STUD INFILL
STUDS SPACED @ 16"O.C.

WITH CONT. TRACK AT BASE

VAPOR BARRIER

ROUGHEN SURFACE
4" RIGID INSUL.

#4@16"O.C. - HORIZ

#5 OR #4 @ 36"O.C. TYPICAL. 
MATCH SLAB REINFORCEMENT 

FOR APPLICABLE SLAB 
REINFORCEMENT DIRECTION

#4 @ 12"O.C. - VERT w/
HOOKED END INTO GB

9" CONCRETE SLAB 
SEE PLAN (RECESSED 1"
AT FLOOR FINISH)

GRADE BEAM - SEE A1/SB500

BASE
0"

8

1
' -
 2
"

VAPOR BARRIER

ROUGHEN SURFACE

4" RIGID INSUL.

#4 @16" O.C. EACH
FACE HORIZ.

#5 OR #4 @ 36"O.C. TYPICAL. 
MATCH SLAB REINFORCEMENT 

FOR APPLICABLE SLAB 
REINFORCEMENT DIRECTION

#4 @ 12"O.C. -EACH FACE
 VERT w/HOOKED END 
INTO GB

9" CONCRETE SLAB 
SEE PLAN (RECESSED 1"

AT FLOOR FINISH)
FINAL GRADE -
SEE CIVIL DWGS

1" RIGID INSUL

4"

1"

3"3"

9
"

11" 5"

BASE
0"

(3)#8 BARS CONT.
BOTTOM

(3)#8 BARS CONT.
TOP

#3 STIRRUPS
@ 7"O.C.

2
' -
 0
"

5
"

8
"

#4 BOTTOM BARS

#5 TOP BARS -
PARALLEL TO SPAN

DIRECTION

9" CONCRETE SLAB w/1"
RECESS FOR FLOOR FINISH

E
Q

E
Q

#5 OR #4 @ 36"O.C. TYPICAL. MATCH 
SLAB REINFORCEMENT FOR 
APPLICABLE SLAB REINFORCEMENT 
DIRECTION

(3)#8 BARS CONT.
BOTTOM

#3 STIRRUPS
@ 7"O.C.

1' - 4"

1
' -
 4
"

BASE
0"

A

8" CONCRETE SLAB

#5 OR #4 @ 36"O.C. TYPICAL. MATCH 
SLAB REINFORCEMENT FOR 
APPLICABLE SLAB REINFORCEMENT 
DIRECTION

DOOR - SEE ARCH DWGS

GRADE BEAM - SEE
A1/SB100

GRADE BEAM - SEE
A1/SB100

1' - 3"

8
"

2
' -
 0
"

SLOPE 1/4"/FT

2' - 3"

1' - 4"

1' - 4"

1
' -
 4
"

BASE
0"

H

8" CONCRETE SLAB

#5 OR #4 @ 36"O.C. TYPICAL. MATCH 
SLAB REINFORCEMENT FOR 

APPLICABLE SLAB REINFORCEMENT 
DIRECTION

DOOR - SEE ARCH DWGS

GRADE BEAM - SEE
A1/SB100

16"WIDE X 48"(DEEP)
(3-SIDES)

SLOPE 1/4"/FT

VAPOR BARRIER

4" RIGID INSUL.

PILE CAP - SEE
PLAN

1
' -
 0
"

#4 VERTICAL EACH FACE
EXTEND 12" INTO PILE CAP
SPACING @ 12"O.C.

#3 STIRRUPS
@ 7"O.C.

(3)#8 BARS CONT.
BOTTOM

(3)#8 BARS CONT.
TOP

(3)#8 BARS CONT.
BOTTOM

7" 5' - 6"

Allied Engineering
Structural  Mechanical   Electrical  Commissioning

160 Veranda Street

Portland, Maine 04103

T:207.221.2260

F:207.221.2266
Web:www.allied-eng.com

GAWRON ARCHITECTS IS PROHIBITED

COPYRIGHT 1985-2017

WRITTEN PERMISSION OF
THIS DOCUMENT WITHOUT
REPRODUCTION OR REUSE OF

C

DRAWN BY:

DRAWING SCALE

CHECKED BY:

DATE:

PROJECT #

# DESCRIPTION

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19

B
C

D
E

G
F

H
J

L
K

M
N

P
O

Q
R

201

A

SHEET TITLE

REVISIONS
DATE

AEI PROJECT NO.: CAD FILE:

AS NOTED

- PERMIT SET09.14.17

9
/1
5
/2
0
1
7
 7
:3
3
:2
9
 A
M

SB501

WPF

PED

010416

09.14.17

STRUCTURAL -
FOUNDATION
DETAILS

cP
or
t C
re
di
t U
ni
on

5
0
 I
n
d
ia
 S
tr
e
e
t

P
o
rt
la
n
d
, 
M
a
in
e

P
E
D

16025_S.rvt16025 1 1/2" = 1'-0"

A9 BASE PLATE TYPES

 3/4" = 1'-0"

N17 DETAIL

 3/4" = 1'-0"

N13 DETAIL

 3/4" = 1'-0"

N8 DETAIL

 3/4" = 1'-0"

N1 DETAIL

 3/4" = 1'-0"

H1 DETAIL

 3/4" = 1'-0"

A1 DETAIL


	Sheets
	S000 - STRUCTURAL - GENERAL INFORMATION-1
	S001 - STRUCTURAL - GENERAL INFORMATION-2
	SB100 - STRUCTURAL - PILE PLAN
	SB101 - STRUCTURAL - FOUNDATION PLAN
	SB500 - STRUCTURAL - FOUNDATION DETAILS
	SB501 - STRUCTURAL - FOUNDATION DETAILS
	SF100 - STRUCTURAL - SECOND AND THIRD FLOOR FRAMING PLANS
	SF101 - STRUCTURAL - FOURTH FLOOR AND MAIN ROOF FRAMING PLANS
	SF102 - STRUCTURAL - STAIR TOWER AND ELEVATOR ROOF FRAMING PLAN
	SF200 - STRUCTURAL - SEISMIC LOAD RESISTANCE SYSTEMS SCHEMATICS
	SF500 - STRUCTURAL - DETAILS 1
	SF501 - STRUCTURAL - DETAILS 2


